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e FEa (T & & T i Wi alhen

WRITTEN TEST FOR SELECTION TO THE FOST OF
CHNICAL ASSLS ELE I

eedvy frgars & v W R o o wte i i #Which of the following is dimensional
formula for Gravitational constant?

@) ML (5 ML'T

i ML (4 MLT

3 Fuer W7 4 FoT oA & & FieEAR gFgd] 89 SeaT 60 wioy A @ o e

gAY & Two coplanar concurrent forces of magnitude 3kN and 4kN makes an angle 60° with cach

other, then the magnitude of resulant 1s:
fay 4.03 kN o) 325kN
(¢} G.DBKN @ TkN

g, &, @ o= & dww gra #AW 957 B, Be A & s gote; #AT BpH values of

solutions A, B, C are respectively 9, 5, 7, then which of the following is fully correct:

@) A= IFAT G Acidic solution, FVB = STFIR Dl Alkaline solution, Mic = Femardr
Hiel/Neutral solution

(b)  TIA =& gEAlkaline solution, FUB = Ereqardt e/ Neutral solution, HC = HEATT
Hiel Acidic solution

@ TA =TI ErE/Alkaline solution, $1B = 3T i@ Acidic solution, H/C = fFeweTEy
e Neutral solution

) WA =3FT SElAcidic solution, /13 & FC are ST G/ lkaline solutions

fafftest dues @ 4@ 2 gt W veia F o Regy swe # sl $0F Rega
o Eﬁnr—r TS TAY e B oo pocurs when two metals or alloys having
different compositions are electrically coupled while exposed to electrolyte:

(a) T HETRENDircct corusion
(v) T TEETAS FEROTElectro chemical corrosion
(c) TeEfEE HEHUNGalvanic corrosion

(@ FFIFA H WE FFNone of the shove
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o1y 10

10.

WHEFT AT A arAFTe & frowr Swee § fee deee afvar @t ———- RfJunction

barrier voltage for PN junction of Germanium af room temperature is:

{a) 0.7V By 03¥
gy 05V (d) 1.2y
qifee S e WY wEY 98 B9 § N S F we SR A § 3 ——— T e

B/The polymers which soften when heated and harden when cooled are called:
(a) AT AR cEREH/ Thermo-setting plastics

) uHAT sfPe®/ Thermo-plasties

(¢} AW SHITEe® Thermal plastics

(d) Itll'_fliﬁ‘ # FE F8MNone of the above

e & @ #fw v seseftes @A A8 BWhich of the following is not a dielectric
material:

(a) EefTHI Titanium

(b)  CeThEn Titania (Ti(:)

e} &TZH 2e7e/Barium titanate (BaTiO;)

(di  ATSHIMica

(Cos A-Sin A+ 1)/ (Cos A + Sin A- 1) BTE &1 fsimplifies to:

{a) Cosec A+ Cot A B} CorA—Cosec A

(e} Cosec A -Cot A {d} Cosec’A — Cot® A

= E‘t! Zr d=edi & $ia-m Jawni BWhich of the following two vectors are orthogonal?

(@) 2i+5j—6kd& Ti+2j+dk (b} 3i+4j—6k & Ti+ 2+ 4k
(@) 2i+5j—6kd&8i+3j+dk Wy 4i+4j— 3k & S5i+4) + 6k
afe |
lrﬁ_-["‘ 3] then A™' -24 =

2 ]

(-85 -44 [5.5 4.5]

b

I _..] ® 3 4

-85 45 85 -4.5
(e [_3 _4] ) [_E _4}
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1.

12

13

14.

15.

for sea® 7 3y F Aey #4 @n the given network what is the value of [7

10 10
FATATA e
10
10% (#)15A 230
T
sv (O
m 1A (b}  BA
fc) 3A dy 2A
oF EOW 7 3000 e F fRv s b oo e ——— W @wd 9 & What is the
kilowatt — hour consumption of a 60 W lamp if it is ON for 3000 minutes?
(@) 3000 {5y 180
fe) 3 {d} 1 BOHHHK)

v T ee & et e A @ #fF R gew Ay T F F9 A/ e #Which of the
following remnins constant non zero value inside a conducting sphere?

(a) STETEYE Potential (b)  SoridceE T Electric Nux

{c) ETST/Charge (d) BoTdgE SeeeTHel Electrie intensity
THURUE F7 IfAE F00 &/What is the unit of MMF?

gy FSFTHTL Weber/meter (o #A FHTET /Henry/meter

(c) FERR-Z9/Ampere-tum (d) Bl ~2ul/Henry-turms

W U o] W AAF W & HEw a9 # 3N A9 8 99 99 F aEaes HEN, 99 q9 6

ari weud A & 3T 98l B AT 3/ e &80 AW &/ When an object has surfaces
inclined to principal planes of projection, then the true shape of inclined surface is projected on an
imaginary plane parallel to inclined surface, then it is called:

(2) WEHEAREE W9/ lsometnic projection

(b  HENTRR WETS/Orhographic projection
ey FHIEEE waIY/ Auxiliary projection

() SHTEREEE WY Perspective projection
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16.

17,

18.

19.

st Frwen 390 s Furd 4 o e @ g o @ R, U ge W Aeet B oAl
Frear T dwy w7 FAET —

radius 3m & height 4m is a sector of a circle, then radius and angle of sector respectively are:
(@) Smé& 312° by Sm& 216"
{c) 4m&216° (y  Tm& 312"

BT & The development of & right circular cone of base

60 mm wark & v WY Yo dfE Faaw & HT # we geng g8 AR @ WeEd aw

& @A & A 607 A & & dRF v e aw § 1 T & |9 S &
A straight line of length 60mm is inclined at 60° 1o horizontal plane and parallel to left and right
profile planes in first quadrant, then the length of projected line on horizontal and vertical planes
respectively are:

(@ 30 mm & 60 mm i) 60 mm & 30 mm

(¢} 30 mm & 30 %3 mm @ 30 Y3 mm & 30 mm

o Fwwe oftgsr & (dawn & g w0y o 0 F w10 T # uw iy H ae
gafea &1 wfadts & @ 9r deear I 100V R dEd A Gwen aRERE FUn the

following RL circuit (pure resistance in series with pure inductance), a current 10 A flows through
the resistance, Voltage drop across the resistor is 100V, Caleulate the inductance of the coil.

(T

I=10A M\
—- .—
200V, 50Hz
fa) S55H i) 55 mH
(e) 83H {d) 83 mH

#n a series RLC circuit, power

wewet uftae & H@an F wae W R 9w
factor at resonance is

{a) BRI Infinity (b)  IFE/Zero
(=) GEAENUnity @ =10
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20,

21.

22.

24.

g i & Jar & @ F B g § se-a vl Es 30 @ 'Which of the following
is an AC bridge used for comparing two capacilances.

(a) dreFCie fWea Wheatstone bridge

() AT SASS SFaE F0 I Heaviside — Campbell equal ratio bridge
(e} 31 A FES/De sauty bridge

() FTEEFT FHVAN of the above

wE ST S
{a) " @Al/Len'z law

(b} RIS T T Soiee HA ed S«=a42+ Faraday's law of electromagnetic induction
(¢) HFH HAOhm's law

(d) ﬁiﬂﬁ’ffﬂniwmb‘s law

faare o #4E B/A DO penerator works on the principle of

T FALeT F WA A ART O FF BT ————— & ®HOT §/ron or core loss in the armature
of the DC penerators iz due to

a) TEERTAw 3T vsd bR a7/ Hysteresis and eddy current loss
(by a1 wierer BT Air resistance loss

(e) I'R &f@oss

(e} FI'TEITI’WJ‘MI of the above

2. 917 400V frft FwieT & wrdur w1 500 grEw AN 400 IRGUR F gE B dEE A

FAFE O 9T ARAT &/ The armature of a 2- pole 400 V DC generator has 500 conductors and

runs al 400 RPM. Calculate flux per pole in webers.
@) 0.12wh () 1.2 wh
¢y 1.875wh (i 0.1875 wh

U TEHSHT & i d0 gl SrAsET S 9T S @i Ao Jeg HAe e
T A WA §/Which of the following is the correct mathematical relationship thut connects
primary and secondary parameters of a ransformer’?

fa)  (Va/Vy)=(NiNa)=il) =k

() (VaVi)= (NN = (Io/ly) = k

(c) I:_"lrl."\l"ﬂl=[N1|"H|:l={|p"!.1j=k

(@ (VaVi)={NiMNay=(I/ly) =k

7 683 TA(ELE)



~MREl

23.

26.

28,

T AT A o qiEwy 7 giEeTen gdwr o wie & fRw swiie 8o a

transformer, short circuit or impedance test is used to determine

(a) ST BT/ Core loss B T LN Tum ratio
ey T 9iot/ Leakage resistance (d) IEI@ FHHAL of the above

wawmﬁmﬂﬂma-am#ﬁﬁﬁﬁmmtmmﬁm#aﬁ

&/ In 3 phase transformer, when a V — V system is converted to A - A system, increase in

capacity is

(@ T3.2% {b) B6.6%

() 37.2% ) 57.7%

o WeeTEET, e & wE 12, sRE 60 Hz Wi #r @ (3RAeA)For an alternator, Number
of poles is 12, frequency is 60Hz What is the speed (rpm)?

(@ 300 by 6OD

& 900 @y 1800

U EIFEEHT # o Qe EiA transformer will have zero regulation at:

(a) YFZero pf (o) wM=ILeading pf

ic) Eﬁlﬁf’l_in:l}' pl {di o= Lagging pl

st anfer & seAwl g S F Flaar BWhich of the following is the working
principle of thermocouple ammeter

(@ HielisaEc® WHTE Piezocleetric effect

by TEEr Gy N Eddy current method

(c) HYET UHTE/ Secheck effect

(d) ﬁdﬂﬁ?ﬂ'ﬂ‘ﬂﬁﬁﬁbﬂctrﬂma@eﬁ: method

v T FEA swEr e 10 Q Rk & 3R 1A e & T S0mA T R IO R

Faghur SaTE IO Gt e & TR e g Fr=ar #) What is the resistance to be
added to convert 8 moving coil instrument having resistance 1062, giving a full-scale deflection for
a current of 30mA, to measure 1A,

(al 20000, W serics by 0.53€2, §i=/shunt
o) 2000, M shunt (dy 0530, FA\ series
8 683 TA(ELE)



31.

32.

33,

B frr waeT & Sheear @19 WeEas unn Aae § AT IwaiE @ Which of the following

ammeter will be used for measuring only alternating current?
(@) T WA WF Moving iron type

(hy  FUT HEE Permanent magnet

(c) EEETIEEATHE W Electrodynamic type

(dy WY TEIL/ Induction type

i st &7 Aot & Ty Tog ofaee & A R Be B sowoo & s senina

&"Which of the following instrument is used for measuring very high resistance of the order of Giga
ohms?

ja) HecrAretMultimeter (b) I Meggar
(e} HITFERERIT/Oscilloscope d)  SheideT saw @S Kelvins double bridge

SR Fel A HHAR O () W wefeer gann ofeniee @R s @ taction
maotors, co-efficient of adhesion () 15 defined by the following equation

fa)  F=1000 g, W X 9.81 (o) F=100 pW X 9.81

¢y F=1000 (p,/W) X 9.51 () F=1000 p,W

s A wallg fege & @ A Re HA-HT s wal B/Which of the following is not the
voltage at which power is transmitted in India?

(@) 20KkY {e)] 66 kV
ey 132kY {dy 220kV
JeUFAA H & FANAS M & AT B ————— F1 e &/ The ratio of maximum demand

to the connected load is called
(a) EEATHE wrEe RARYA 9TE/Diversity factor

(5)  FTT HEE/Demand factor
ey WY e/ Load factor

(d) FTEFA 7 FE T None of the above
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3E.

37

38,

39,

Fagor qudr # — gfeesor o7 et wiwRud #n transmission system, feeders are
desrgned from the point of view of

(@) Aleedl MV oltage drop

(k) HETeR &Y HT{%:E’E-'rrqumc}-' of operations
¢y YT dlgeh BTHAON Current carmying capacity
) FEEFT FHIAL of the above

rgdET "dene & fer gafe deesr T BWhat i the voltage sclected for HVDC
transmission?

{8} =300KkY i =11kY

ey =415kV (d) + 110 kY

v RO daner T 8 ' 9T WEN eard & faarer e #iAn over head transmission
line having supporis al same level has the following detals:

T AATE Span length = 200 m

Tera 1 waTE e 9T HWeight per usiit length of the conductor = 600 kg/km

Glereh o1 AFHo dea qaoran/Ultimate tensile strength of the conductor = 5000 kg

afE Ieags TavSr 1.2 m g O A S g JEed F3Caleulute the Factor of Safety, if
mraximum sag is 1.2 m,

@ | ) 3
g 2 4

S 9 FfEW & weon waner Ffew Rowr § o SR @ g w19 F AT g6t

dra et e gt e w@e R communication cables are to be laid parallel to
underground power cables, what should be the minimum distance 1o be maintained between the two
to avoid interference?

@ 02m (b)) 40m

ey 2.0m {d) .6 m

et A F ®ta-a oy Bodesd Ivaan fagga 0w ofF9 99 a S4ar §/Which among the
following circuit hreaker offer highest insulating strength

() SO0 (b)  ATIAr
(@) THUE, SF, @y e vVacuem

10 683 TA(ELE)



41,

42,

44,

45,

46,

AR WrRfera T 31 s ar iFusing current 1

U3 WAz T & Wi unr |

of a round fuse wire can be calculaed by

(@) 1=k iy 1=kd*®

) I=kd? @ 1=kd

SR Where $i/k — 1 2RI/ fuse constant

2iid - AT T s diameter of the wire .
Tegled et ———— &1 33T #Buchholz relay is an example of )

{a) EIEE‘H ?Fiﬁ'ﬁ'l UT0T WL i Electromagnetic Induction type relay
by e Fiiiﬁﬂl GO PR Moving cail type relay

ey TEfERrEeiEes a/Physicoelectric relay

(d} TEFE TAe T e /Electro-thermal type relay

125% F FiEm v S e R, @ 3 4008 wEw F o o Ry W

Hafar B sar §1 B 39 77w & An over current relay, having a current setting of 125% is
connected 1o a supply circuit through a CT of ratio 400/5. The pickup value is

{a}. 625 A By  B25A

(@ 1235A @  125A

gferer offs deer & far 3o @Resistance earthing is used for voltages
(a) Below 33 kV i  I3kViell kY

fc) 66KV 10132 kV (d)  Above 132 kV

F e B ol o ——— HrEreE TR Sar BiThe capacity of a crane is expressed
in terms of

(a) EET T TH T ype of drive (o) THTonnes
{e) TUF/Span (d)  FTLEA THVAL of the above
AT WiEEH & Y ———— AT 9 &The motor preferred for quick speed reversal is

(a) ST ACTde motor

(b) e ST HIET/Slip ring induction motor

(e ﬁﬁ'ﬂ'ﬂﬁl‘ 90T e Squirre] cage induction motor
(d} ﬂm HEt/Synehronous motor
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47,

48.

49.

51.

74 gft el W ——— W Faniea B @ #The long distance high speed railways

pperale on

(@) 15 kV UFHer 559 UHUsingle phase ac
() 15 kV & &1 Tlithree phase ac
() 25kY e &l TdTihres phase ac
(d) 25 kV UE E T single phase ac

I g A FED A9 &7 gARr A Be g & #ta-m 9 R smar #Which of the following

calour is given by a mercury vapour lamp at high pressure.
(a) woATH So/ Bluish yellow

(b)  FATATH EUBluish green

fc)  BTLETST T/ Greenish white

(d) OIS WhE/Bluish white

Ao # R o oigz (Ry) ot v, 3 R g ¥ &9 & s w o i e
TR Y o7 W wEewa § e A #l9 @ B 97 a9 & Which of the following

law states that “Tllumination at any point on a surface is directly proportional to the cosine of the
angle between the normal at that point and the direction of luminous fux™,

(a) TR [FTH Bunsen’s law by ST FEEPlank’s law
() WS FOA Faraday's law (d)  EEEEH WA Lambert's law

vF o9 & AU 50 ® WA AT FEa wET B §W Fo@H 597 §/A lamp has mean spherical
candle power of 50. What is the total flux?

(gl 628 EFIH."]mm:n ()] S=x ﬂ?lﬁ'ﬂmmn
(e) 314 FFHA/lumen (d) 50 ¢ HAlumen

A dedE & v wEvas omed e & & #laar g §/Which of the following is not the
required property of heating element

(@) Fed AT/ High melting point

(B qﬁ Hafer A HiedEn= ﬂﬂ'ﬂ?l.l‘Fm from oxidation in open atmosphere

ic) Fed SioRIRarHigh resistivity

() GiEEE ﬁﬁ!ﬁilﬂl'iﬂiﬂ{lgh temperature co-etficient of resistance
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52.

ad.

55

Bt

e 9 ¥ wiA-w gy @9 & SR fWhich of the following is a type of electrical heating

(@)  STETE ATYH/Resistance heating
(by STOT AT Induction heating

(c) SEEETFeE A=/ Dielectric heating
(d) ST I /AL of the above

o 200 O AT T @i 35 VDC & wHE # @E ¥ RraaAT wET o S B A 200 2
heating nicrome wire is subjected to 35 VDO, How much is the power drawn?

{g) 6.125 walls by 5.7 walls

(g} 0175 watls {d) 7 walls

Pyt 3 @ S Fwesd #w A8 §/Which of the following isnot secondary cell?
() Trerat-Fe Ao Silver-zine cell

) TerEe- T Be/Nickel-zinc cell

(e Tatem-sreil e Wen7ine-chlorine cell

4y ™S-30Fa Hel/Lead-acid cell

wmmwﬂﬂmﬁtaimanﬁmumﬂmﬁﬂmmthﬂhﬁiﬂm

& A, 20 o & TaT 24 FEm G &7 A0 §1 A BT HERTee 1 An alkaline cell 1s

discharged at a steady cument of 3A for 10 hours, To restore it to the original staie, charging for
20} hours at a stead current of 2 A is required. Calculate its Ah efficiency.

(@) 100% B 133%

ey 50% (i) 75%
mwﬂgmiﬂrﬁmﬁmﬁmmﬁmwﬂm#mﬂ—-—ﬂwwn
a lead acid battery is discharging, the density of the electrolyte will ==

(a) df/nerease (b)  EEE/Decrease

(e AT Fo T/ Remain constant @ BT Become zero

Sty BrarEE & S s s FoEiEE R S &/ Which type of diodes are used in

voltage regulators?
(a) Yo STEPN Diode (b) T SRAEZener Diode
() gieehr STETE/Schottky Diode ) TaeT STITS/PIN Diede
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58,

59,

60,

61,

diewr e & fiwae 679 & /In a depletion region of PN junctions
{a) e O fsg st SelagTel HUETLE Bem B/Holes and electrons drift awaty from the junction

(o) o OTRd 7 3= g wiger AT U O F I=9 =eEiA AEU/High hole concentration on
P-side and high electron concentration on N-side

() ETH gl S & HYETT 21AT §/0nly electrons drifi away from the junction
(dy A i S B reETia e B10nly holes drift away from the junction

AT § Wy A B ot @ S @@ F8 BWhich among the following is not trie about

oacillator?

(a) ANET et Fefed FT F 36 a7 A Feee Sevest war RiOscillator produce sipnals

from the moment it is powered,
(b} GITerE U gerergTiad 9ROy € St g A e & Rer sraftes M 3o aen

v/Oscillator is an electronic circuit which generates perodic signal withoul application of
input,

(c) 2N Aadra Fredes IUTT AT §/0scillator uses negative feedback.

(@) 2T FEE A T WIS a0 g Seue T WA §/0scillator can generate both
Square wave and sine wave.

U A HY wee A oY & a9 Ui ——— @ ETempersture co-efficient of
resistance in a pure semiconductor is

(a) ANEEAFAICHS Negative

(6] ¥Zero

(c) A ERRCAS Positive

(@) 79 3 oREE wfe a7 T T Bl remains constant with change in temperature

CHHIHT @ 0T A F Fhdl @SCR can be tuned ON by

(3) UATE T FAE & A9 ) BRAE e geT Ty decressing the forward voltage
between anode and cathode

(b} J1E HIR FeiiE e & d UF SN ateeal WHET #1 Applying a positive voltage
between the gate and the cathode terminals

(e) e AW TAE efiAw & vF WEHEHE aeedl WAFS F/Applying positive voltage
between the gate and anode terminals

() ¥ 3T & T 300 & 7 THHHT THUBy keeping the SCR at 300K for long duration
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62. cfunrdy d=ar 1 E Zyes # 9RERE FConvert Binary number to Hexa decimal

1110 40001 1011
(@) E91C b EALB
e} EAIC @ DAIC

63. v gftey & werd = §/What is the function of the given circuit?

AR

nNB

X="f(A,B); Y =1(A,B)
(a) SERET/Decoder

(n) Ve FaetaTeTen (eaaeneereh Half subtractor
te) e YR Half Adder
(d)  FUIET/Comparator

64, UE B TR S, UA A4 AT § 8 geaen Ieaas gen & R The maximum
number of states that a free running counter with “‘n” number of flipflops is

{a) 2° B 0
o 2™ @ 21
65, =t dry fr atear & oA fEar S #The voltage equation of a DC
mator is given by
a) Ee=V+LR, ) V=EylLRs
€} Ve=E+1L'R, (@ V=Ew 'R,
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66. =Mt Seietr @ WAflT W= BfEs fEroh & wha-ar @8 #Which of the following statements

67,

68,

reparding DU generators are correct?

() A9 FEeA & FoaEr A It HTITHa A8 £/Equalizing connections are not required
m lap winding

(ii) T ATEaT, 300 GRT Fertet T e H ST HET E/Low voltage, high current
generators use lap winding

{iii) Hﬁfﬂﬁﬂﬁﬁmﬂ'mﬂ HIaeTs #al &/Equalizing conneetions are not
necessary in wave winding

(v} W‘E{ arhEe ¥ A BCommutator is made of graphite

@ (i) & (i) (o) (i) & (iv)

fe) (i) & (iii) (o) (1), (il) & (iv)

TF 4 O R & WU 36 'Ry Wi ¥ o 3 R 7 w6 & @ o b R
HEH HERTAT FUA 4 pole alternator has 36 stator slots, If the coil pitch is kept 7 slots, caleulate jis

pitch factor,
{a} Cos 40" by Cos20"
{c) Cos 10"’ (@} Cos 60"

wmﬂmmfammﬁwmﬁsmmﬁmhmﬂ#m{mﬁ

A 8 o A & e @ s 1 ERE Y A 220 V DO shunt motor muns at

500 RPM, when the armature current is 30 A. Caleulate the speed, if the torque is reduced to half
of its previous value. Given R, = 0.20.

(a) 750 rpm (b 507 rpm
(e} 250 rpm () 10040 i

UF 4019, 390 96 e 25 Hz vl & dwfed T@ar ¥ina 4 - pole, 3-phase induction motor

operating on 25 Hz AC supply, Calculate

() Feerw gadra 87 # guid W HRUHE F 7R3 Speed in rpm at which the magnetic field of
the stator is rotating.

iy oTa FET 0,02 B 359 goies & a1fey 3Rws 3 HRa FSpeed in rpm of the rotor when

the slip is 0.02.
fg) 1500, 1470 {B) 750, T35
(e} 3000, 1575 {dy 1500, 1250
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10,

.

T2

EEelifen #iey & quie & fon

earr e R @rar BiThe direction of rotation

of a hysteresis motor is determined by

{a)
b}
(]

{d)

TR £ a1f &7 9RFeT Amount of hysteresis loss

HEa 3 3 §1el §U s a1 R Position of shaded pole with respeet to main pole
e wreEdt 1 afian Retentivity of the rotor material

I9AFT A F5 FENone of the above

S FAwTEEMaich the following :

(%) . 3. Iron Core Inductor
C

(@)
fe)

= - 1.Common Ground

T - 2 Chassis Ground

- 4, Fuse
er » 5. Current source

o=l ; -b-3; c-5; d-2 b)) a5 b4 e-3:d-1
a4 ; b-3; ¢-5; d-1 (d) a8-5 b3 c4;d-2

e FAEYSimplify the following :
X=(A+B)B; Y=(AB +C)B; z=(AB +BEB)A;

(@)
()
(e}
()

X=0 Y=B(A'+(C); Z= AR
X=B; Y=1; Z=A

C=A'B"; Y=1; Z= (A XOR B)
X=A'B; Y=1; Z=A'B
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73. mimmmﬁmmﬁﬁamﬂﬁwammmy Calculate the speed of the DC

74,

3.

traction motor. Given parameters are
HRUCurrent =30 A: EF#TJ'anun 200N-m; FLTET EITFEFITh:pcr&ting voltage = 220 VWO
gy FENFAET Resistance of the Ammature circuit = 0.50

(@) 293 RPM (6) 893 RPM
(el 1700 RPM (d) 500 RPM

FE wOel # degr  gfFaaREat oemE Siidentify the outpul deviceldevices in a
computer system
(1)  HAEHEMouse

Gy HrEEKeyboard

(il  FEhlAdScanner

fivi  TeT/Printer

(@) i, iv ) i, i, i, iv
{&) v @) Ll v

TR MfE A fe ane i # FOes F fWhat is the operation the following short cut
keys in MS office
(i} Cul+K;

(i) Cul+N
(8} () FegTeese el S1ears & 8F HHRedo the last action perfarmed
() o AT, R mEHe fawst GEat $0pens a new, blank document window.
(B) () U FEAIeE Hiesiate $1/nsert a hyperlink
(i) ﬁﬂﬂrﬁﬁmﬁﬁw B/Opens a new, blank document window
(€ M UwEEieE feafase F3/nsen a hyperlink
(i) SerE ra BelFe FSclect all the contents of the document
(@) (i  WEE Y G A FSelect all the contents of the document
(i) UF S ies AfeATase insert a hyperlink
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